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1.What is the default maximum resolution for the internal streamer?

A.720p

B. 1440p

C. 1080p

D. 480p

Answer: C

Explanation:

Reference:
https://www.cisco.com/c/dam/en/us/td/docs/conferencing/ciscoMeetingServer/Release_Notes/Version-3-
0/Cisco-Meeting-Server-Release-Notes-3-0.pdf

2.A corporation must configure Cisco TelePresence Management Suite Extension for Microsoft Exchange
for users to schedule meetings with Outlook.

What must be configured to accomplish this goal?

A. Cisco UCM endpoints

B. a client certificate and password to interact with Active Directory

C. Room mailboxes dedicated for the use of TelePresence scheduling

D. Cisco TMS provisioning extension

Answer: D

3.An administrator sets up conference resources by using a clustered Cisco Meeting Server deployment
for video endpoints that are registered to Expressway. The administrator must ensure that no single server
gets overloaded within the cluster.

What should be configured to accomplish this goal?

A. a record with the cluster FQDN of the Cisco Meeting Server in the external DNS servers.

B. Expressway-C as the traversal client to Expressway-E.

C. Cisco Meeting Server and Expressway-C in the same domain.

D. a separate zone for Cisco Meeting Server servers in the cluster.

Answer: D

4 Refer to the exhibit.
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Insufficient licenses

Cluster 3
Over 80% threshold

Cluster 4

In compliance

® Cluster 5

Unknown compliance

Licenses ® Cluster 6
Status not available

What does this notification indicate about activity over the last 90 days?

A. In cluster 2, more licenses have been used than are installed for less than 15 days.
B. In cluster 3, the license agreement will remain in compliance for 20 more days.

C. In cluster 4, at least 5 percent of the installed licenses have not been used.

D. In cluster 6, the license agreement has been out of compliance for more 30 days.
Answer: A
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5.Refer to the exhibit.

<?xml version="1.0"?>

<coSpace id="2cc9110e-a36a-4173-8cb5-660c3d1e7c92">

<name>CCNP Collaboration</name>

<autoGenerated>false</autoGenerated>

<uri>8001</uri>

<callld>849274932</callld>

<passcode>1234</passcode>

<secret>XnKexBOyWQ2iwfuoCe6AWQ</secret>
<numAccessMethods>2</numAccessMethods>

</coSpace>

When a user dials 8001 to connect to a space that is hosted on Cisco Meeting Server, the user is
prompted for a pin. The prompt says the user should press # to connect to a meeting without a pin, but
guests and hosts must enter a pin before connecting to the meeting.

Which configuration change resolves this issue?

A. The secret value must be changed to be solely numeric instead of alpha-numeric.

B. The passcode must be changed to be longer than four digits.

C. All access methods that are associated with the space must be changed to include a pin.

D. A callLegProfile must be created and associated with the space so that pins are not optional.
Answer: D

Explanation:

Reference:
https://www.cisco.com/c/en/us/support/docs/conferencing/meeting-server/213552-configure-and-troubles
hoot-guest-and-hos.html#anc10
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